@8 é

WHBF AT
e 1 e
49 x 60% = 20 x 80% =
47 x 80% = 15 x30% =
9 x10% = 95 x 80% =
26 x 20% = 8 x 10% =
37 x70% = 77 x 60% =
48 x 90% = 3 x50% =
33 x 60% = 48 x 80% =
2x30% = 48 x 10% =
12 x 40% = 22 x 30% =
19 x 80% = 76 x 60% =

www.snowmath.com



https://www.snowmath.com

% % PSRRI E 4

4 H391: i O
49 x 60% = 29.4 20 x 80% = 16
47 x 80% = 37.6 15 x30% = 4.5
9x10% = 0.9 95 x 80% = 76
26 x20% = 5.2 8% 10% = 0.8
37 x70% = 25.9 77 % 60% = 46.2
48 x 90% = 43.2 3x50%=1.5
33 x60% = 19.8 48 x 80% = 38.4
2x30% = 0.6 48 x 10% = 4.8
12 x 40% = 4.8 22 x30% = 6.6
19 x 80% = 15.2 76 x 60% = 45.6
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